conipulsorily draw diagonal cross lines on the rc.:rﬁai'n.i'ng'blank ‘pages.. -

Important Note : 1. On completing your answers,
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N’ote Answer any FIVE full questmns, chaasm aONE full question from

-1.-\!'--..__

50, will be treated as malpractice.

2, Any revealing of identification, appeal to evaluator and /or equations written eg; 42+8

Max. Marks: 100
gach module,

Define the following terms
i) Artificial Intelligence
1)  Agent

iii)  Search space

iv)  Logical Reasoning

v)  Expert tasks. (10 Marks)

What are Al problem characteristics? Explain eac] (10 Marks)
OR =

Define production system. Discuss the diffe rent categorles (characteristics) of production

system. (10 Marks)

'a.ter Jugs of 3 and 4 litre. Nelther has any measuring marker. There is a tap that
o fill the Jugs with water ‘Indicate how 4-litre Jug can be filled half. Solve this

les and state space tree.
(10 Marks)

{10 Marks)
{04 Marks)
{06 Marks)

‘Goal State
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(10 Marks}
Consider the followi
i)  Man (Mare )
ii) Pompe 1an(Marcus)
i) Bom‘(Ma.rcus 40} ,
iv) Vx: man(x)—> mortal (x)
V)  Vx:pompeian (x)— 5
vi) erupted (Volcanoy7

vil) Vx:Vi: ‘v’tz mortal (X) A bomn (1 ty) A gt (t2—t, 150) — dead (%, t2)
viil)

1y %’/tz - died (%, t1) A gt (ta, 1) — dead (x; t2)
Prove that : ~ alive (marcus, now). (10 Marks)
10f2
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Given a chatbot how w
seamlessly.

Moduie-3
5 a. What is non monotonic reasoning? Explain the 2 approach

20f2
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f default reasoning.
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(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks) :

(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks) -
(10 Marks)

(10 Marks)



